R A L T g HLAE B OB NE
6H16H (1) 6H17TH(H)

R A || R 7 v o= 4 #EIE|  500m 1000m S
1
[
16:00 ﬁz S eont |HummEmRAx ) 1 | 149548082 | 349581034
4AX+ 4 | RFPY6 [TRECRFH i 2 | 257095044 | 45526049
R | 5 | REPVT | BREEE EL 1| 257028016 | 44713Fb89
(14:30) 6
1
[
16:100 %2 F 3 [ wbio1 |[EERERmLD 2 | 22041577 | 45708536
4 | wWhro2 |BUERBEKA 1 | 15y44%051 | 347367026
R’ B 5
(14:40) 6
1
w2 | TPV ([REEpEEEAB 5 | 147507022 | 34351537
16:20 5:7'2 N TP [T 1| 14543885 | 337820
4 | RFPY3 EBORFE —imik 4 | 1534797 | 35345%504
®r 5 | RFPv4 [BiEpEEREKA 3 | 14478041 | 34343%065
(14:50) 6 | EPY5 |BERREKB 2 | 150478014 | 353421505




E’*/\f\%\\[le:lﬂa\‘%i%%%\
Y
N FMEREL "l/?HA NP
o | Bk 5 /R B |v—| BEES AL R OIS
! =2
7oL — 6H
. 1 4 16A(H) 6717
= o | 2 HIIE 500m A(A)
. N — 100
1 X A2 /fﬂzj(?%##*&i KA 3 e
4 s —mKBGE H24 b
T A - PHH3 *ﬁ/ﬁ\:ﬁ%rﬁ&:(;(m% PED) | 4 1%58*162 457087017
(6:30) bivd |BRERRER f& X 1 15:}511 457097581
6 b5 yfﬁzjt/%ﬁfB(lgq:ﬁé FE) 9 79 | 45028016
N 1 FEEKCE B 5 177581620 | 473071049
ook = S
_|s:10| 7 F 2 | b6 |BEmEAKC DALDSL | PP | 8/5
1 X 3 NHH7 %}Tg;%;i U\S# %) 2 N
4 [ BIEAIRERAOAR 5 173511067 | 457
4% B LH8 | EE A m 4/"*4’) 1 | 255008 7304762
(6:40) 5 | B9 *ﬁiﬁmq%ﬁ;;%é(:ﬁ o] 1 15:}54191 Drop]
6 | 7bH10 %W@i%ﬁ_;i UlR 25 3 AN 96 | 47301155
- T ooy ¢ u}k ERDARZ K 243028025 | 44309%)
Bk |2 NS 1 [ wse [ P08
6 8:20 T BLEV2 |BiEREEEE — X) 3| 24% — 497097564 3/5
1w 3] sLes *ﬁﬂﬂfﬂj%:f LS 2 27\10@24 457361593
N - ALl = 7 B o 09 /]
T A 4 | sLina 7£@tj:ga;fi(ﬁ#%§%) 1 2;;07;\35 SoP10
(6:50) 5 | BLEYS $§iﬁﬁ¥?;.nj+§z§giﬁ N I e 1573154
6 | BLLVG *ﬁ?ﬁﬁ%‘?;m;@ o i D2 | rores
& 1 BLEYT *ﬁ{&m%ﬁgﬁl{(mm INED) p 2?\121?12 455 40F7T
= s - - LRea L AR o o) N
L |80 & F 2 | BLEYS *ﬁ“/ﬁﬁfﬁ¥ﬁ+(7ﬁ7g =) 5 | 2o D48 | 470427960 | 3
1 3 | BLEV alld RS (L o 43 13F059 | 44542F0 /6
X LEV9 |Hhirpe 2 m R BO %) 4 25 12F) 57427045
Ti& 4 | BLEVIO ?fﬁzj(mmfj&zk ) 1| 24y D82 | 453387599
# B |5 | BLE =20 T ERB( 25118000 | 44y
(7:00) Co01l BrE RO vk T | 2 [ 2w 45335%44
6 | pLEV1Z *ﬁ?ﬁi?ﬁﬁ%:;q%m 5B |6 [em D10 | sihos
(G XG(I‘;’J*,@; :fﬁ’)) 5 Zili%f?(a 463\51$¢23
]j AN
P01 | 459385058 | 3/6
e 2% (799545 181)
- 1
mOK 9
10:10] % T Hbibs |IEBOCER
8 1 % 3 Db j‘f%ﬂ%’vyzcmﬁﬂ p
4 7 |BESAERACE | 3 | 25708895
e - b2 {ﬁﬁﬁ%ﬁ%*mﬁgj Hist) i 44335%39
=§ R =Y 7-;? e
(8:40) - 2010 %@%@%&5& fiflf_WIO[ 1 [ esoid Bain
%K) 2 2/\0%? 9 | 414R17
1 R 57013254 4 =
& o [ ;3%&59 VR B BRI B 453165505
o [10:20] 7 F biod | S B wen [ 4 | enop
S [ aews e R RE 15317825
I N N A _HHACH ) /06117 | 4721820
Pl 5 EFERRAGHE 4 3 | 25301865 AN
(8:50) rtno (R R BRCU S N RS 1125
N T TNl MY MR
1| LS R ERCHE R AT 15357F054 | 447
S T08 | REITE e R F G ") 5 T 20301 7 137520
1o [10:30) & F 2 | BLEVL BRI S T 295 9 | 45719871
0 3 — I P 3 R TR — 24519F545 | 4%y
1 X BLE0O | B KE) s T 25150 457495516
i |5 bUrve (G s 1 [on ki
(9:00) ) 5 |HLblz ﬁﬁ@iﬁ%:;a%qj =) 2 2?\ P28 | 1712851
I A T e 0P | 1T
P 1 [ BLevin *ﬁ@p@.ﬁ%%;c(j* %) 6 22}22%40 453461950
" 10:40 % T 2 | BLEVE *ﬁ(ﬁﬁ.ﬁ%;}; <%ﬂ% =<5 5 | 2452 7F116 45751114
< [ mreno ?fﬂjqi;;fﬁ;:mm | 4 27\23; 19 | 547028554
4 NN ZEEBUN = 5722869 5
- S B R e AG O T 2 [ 157517582
(9:10) BLEVT |BiRmE AR BRI | 1 T 157508516
SEDEINl T e TN e
e
29158 | 5731134




